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SOCTALSCIENCE
Full Marks - 80
Pass Marks - 20
Time : Three hours
The figures in the right hand margin indicate full marks for the questions.
SECTION - A

(GEOGRAPHY)
Marks - 27

Answer Question Nos. 1 and 2 in a sentence each.

1.  Why does India need both thermal and hydel-power plants all over the country 7 1
Mmmﬂmwﬁﬂﬂ-ﬂﬂmﬂﬂmmmm
mefmfet 2

TGS WEN VG A0l TR YAE AR 1% WAwe forden® wmew wiR
FRACAT 2

2. What would happen to the people who had exposed to nuclear radiation ? 1
enmeTre evaireoEr srseneees wfofms mef ereef
Jiam cfemen seramaaa ke o camsi= 2
Answer Question Nos. 3 to 5 in about 30 words each.
3.  Name the two major types of soils of Manipur. Mention its distribution. 2
mefmer! Reo*ss Sdr 3% e wefae! SRl TRON EEF Sowrs |
Ao WRPEAT LA CA1ZIS U TN AN T T TG |

Contd.



4. Suggest one transport system each that would be suitable for carryving natural gas and
perishable goods respectively over long distances. 2

WEHON REFOIIH R MEO THROD MUE0E-MFLMES Ney-Rofo mes Rofeeras matr-
Mo Emr EE WhER GO I
SRR NN GASEET AT W - oML e -6 wfa pREeE Aras-
(¥ oAy s 3q9E |

5.  Suggest any two measures that would help reduee environmental degradation caused by
industrial activity. 2
reaoEeimt Erofor Pratels ce*ssnf Bfar PrRiTerm AELAESE T TRIPES
2D WETRT Rers

TG LR CARFRIER SCPEI Frow (TRABEFH 29273 WS G251 (TS
HeE ST |
6.  Draw afull page outline map of India and mark and label therein the following :  1+1=2
Areas of Mangrove forests.
ERE TEF el KO Uk R TR KRS fem e wofnf JER Seem mRfm Joms.
ReIMEPE SR RERmTE i

AW 4T TS (NPl ] (AT WS Wow Wy A WP ew Sewan qhR
LEFS

CATHTE TS WA |
Answer question Nos, 7 to 10 in about 50 words each.

7. Givea brief account of the three main sources of irrigation in the country. 3
R worer (Aey) keurss SI-sotoet Aewermfomnf rll;a-:m CESNE B i
e T (Se) TraEET Bl ST ChueratmeT wmam e 1 |

8.  Explain the chief characteristics of the regur or black soils of India by giving three
points. 3
Aoymt afme ceeeP o8 (PEen! EOMET KIND-RF UARs WP OrRtEe 3s.
TRED! fdag weae @ (iEEe TREEE Ne-TTE HERAs AR =TWE WS |

868 RM 21 S/Sc (N) 2 Contd.



9. Why is there a pressing need for the use of renewable energy sources in the country 7 3

dir uota Pewrees fs srecfnf Arresoia ofcfeese! Are wads Exs Uk Seefsol
meelmfe® 7

CEEE W e T Safean (R TiftmeS agl e v = Caslae
TR 7

10.  Explain any three the favourable conditions for the localization of paper industry in West
Bengal. 3

Rel3s BemmIE ®e oiEnf sEEope! S5 Eudseels etwofon Wi OEETE
s n

CE (T OB *TaSTl SwoG Caral YUmseIEiEa Srewfey sgwms HAiaer =« o |
Answer question No. 11 in about 120 words.

11.  Compare the geographical conditions necessary for the cultivation of cotton with those of
jute. 5

eofm deswl arde o565 mATN Efarofor efetert BAP Efmofor fosrese 55,
w2 AT G SRR Frewiesn Rram R Sroufeen sorm 2
O,

Why has the foodgrain production remained stagnant or declined in the last few years in
India ?

Az, AlE AAF Re wots, AfeZrat BA-wetne! iPRrer souse Sefs peEpr seierels
el e

o, (R o3 wi, Bend wtu-arneht comaielt e el wemen TR
i 2
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12,

13.

14,

15.

16.

SECTION -B
(HISTORY)
Marks - 27

Answer Question Nos. 12 1o 15 in about 50 words each.

How was India affected economically by the First World War (1914-1919) ? 3
merfsisfnf wAEs 2edne (sp52-1558) AMENT -SRIl CHR MERE (P TAERIERC 1
#[faf@15T SR G (1914-1910) SEET] (e -L=aN w PIH! CTREERERL 7

Name the inventors of : (a) Flying Shuttle, (b) Spinning Jenny and (c) Power Loom.
[+1+1=3

(2) E¢RE oW (Mameser) (b)) omfefn cwerf oron (©) Wl 2F BFAT AEE WMIMERlE
riorofn aart kRfE &R

(a) FFi%e ¥ (=TwCTT), (b) Peifie Conl S () T o S5 -n! LT e
gt wiwe 3 |

“The First World War disrupted the trade and economy across the globe.” Justify the
statement by giving three points. A
“ matalsiet vides deise mplsiain REF maforf ce'e Befr omel cremRfeteoins
waE-uor mr Praekl (| ReF TAFRT Wie AeR ol Rrsl Ans e

““ofe N Sl enanenT AR T i - Lo Wy CHferERET W -
WS T CArEA 7 e SEa Ala I Wi puE g B

State three main effects of the Second World War in Manipur. 3
melmeR mefsrafe! aefos eedEe CEAEETS kif WRY B URERr KR

il -+ S Tenew SEEART PR T WS T |

(On the map of India drawn as answer to question No. 6 (of Geography portion), locate the
nlaces with name, where : 1+1=2

fa) aKhilafac Committes was formed in March, 1919,
(h)  the first All India Kishan Congress was established.
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"A ewf (of Geography portion) wissF w*he pewes Arvwl wew Tas wRefofn cof
BrklE REFOMDE TN BPEre 5ee

(a) wmefoxe! @mrefm iece pf ReR In RIdeyml BRRIRE ORRTE 0

(b) wArs wT FrErd @ftie Ereen efmRRrs I

a1z w12 69 (of Geography portion) #TE4E <31 T TS (47 e T it i
CUTSTaRT Mgy TR (T BeE

(a) 4B T 1919 M w18 At Femen sl e

(b) EWRT @s B e e AlsyeRa

Answer Question Nos. 17 to 19 i about 30 words each.

17. State two important consequences of the Great Economic Crisis of 1929-1939 on
England 2
watowret mROTE 5565 101 SPRE BREN JrRls Wi ora-gEn! H5E Use sOens I EIERE
FeMIPEE ETAR wefRmr B
B ue 1929 W 1939 TSI CAREEIT SISRT CRET-YRA AR W Ieraeat
GEEnEE Teesa Fiem a5 '

18. “Printing technology has undergone massive changes over more than the last 500 vears.”
Justify the statement by giving two points. 2

“waf fo00 otp Aeesmt mRmet cim ersmf mewretetel oof dRe i TEmE mE SImreT
R wefwr mine JeR wol 7es A5 Seen

"SR S00 CA CEARA SIS Bof s CBreicantE S Wil shee WrER 3w w1
e e T e W RS 2EE B |
19, Name two newspapers which played a great role in making the Indian masses anti-British

during the 19" century and early 20¢ century. [+]=2

s¢ (08 BATOWFT RA-ANf CEoUs OO0 RO §0 OF 3efoEP! JAT-REl Wies Oems
spgmf wfvny zafslonf AfTre Ssesn TR's R0 SR mMsre oete GRio 510

b3 WA BT 5T T WO *ES TR 3 oWl YET BR- 51N TS el Sl
Ty 549 TS LSEA SR ciine (AT ofreTs e W 5 |
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Answer Question Nos. 20 and 21 in one sentence each,
20. *Garibaldi was popularly known as the *Knight-emrant” of the [talian Unification”. Justify the
staternent by giving one point. 1

“malsImlE FRelE TNEE S8 Uk WEACes Ans 5AP ‘wns soew (knight-crrant)
ABe Bffre Rewf1” koF TR WMiae AEF ool HEs AR 92

“offemig Wil WeERT e wa o%zaa (IR HEM TS @5 (knight-
errant) Zr%e1 ST 2emE 7 wEw ) A I wh pud g B

21. 'Why was the First Nupilan (Women's War) occurred in 1904 7 1
wefowet naf 1904 1 whws emf 23 mefwl Sorslze?

4B 531 1904 71 wZWA1 8 @ WA (AREAA 7
Answer question No. 22 in about 120 words.
22.  Give an account of the Liberal Nationalism of the 19" eentury Europe. 5

wRfoREt seos wal-Ant suetwa! eosies ens wenls enofset 5ANP Kesn BRI
4B 3 e 585 2SCaPR TR Leredn wanfeg R BUEa T |
Or
Give an account of the important events of the Revolution of 1848 in Germany.
zeometmf wepfosm! mrofn eveemt 233l Rewtss @ wolmam ReER BT
wie et 4B gpurae 1848 M AN TPaIA cNomHHagA T 5 |
SECTION-C
(CIVICS)
Marks - 13

Answer Question Nos. 23 to 25 in a sentence each.
23.  What kind of loyalty is shown by a communal person ? 1

dogme! @55 AR RLE KIOr TRe Wers et on efos (@neenl) s 1

TIeEe P! @B AYe 47 TS W] T WL W e (ERA(E) Beerwst ?
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24.  Identify the dual objectives of a federation. 1
EsieremE @R aelfebas nearofos Ror RS i

CRREAo ST WIS ATR{¥Iey e RS |

25.  Analyse the reason why democratic government is more accountable than any other

alternative governments. 1
mERERee! ceder ¥ TR U5 4% oedeofoae! e 358 ms #tel Assofl fohn
ST TSI LS STSIR @1 W1 SRR C2Al Ry {4 Cafly T e
Answer Question No. 26 in about 30 words.
26. Explain the way in which the American type of federation was formed, .
wreeTEml Eefererse crPRRs eRsiiPl RUE wE oestre Brs i
WA PR CTfRA # G N82 WG MG SIS |
Answer Question No. 27 in about 50 words.
27.  State three basic features of Indian secularism. 1+1+1=3
Agmt aema KIH KIRG GRS OWERFT Y WS KT CARRT 571
S 4Rl Mo TR =l e G TORY WL 2 |
Answer Question No. 28 in about 100 words.
28. Inwhatways do the pressure groups and movements influence politics ? 5
meRs Brtnofoa deefels meemne pemofn oron s3ofoe sife wisme

el ResPion e (o 2o TR BrBife B e 7
SECTION -D
(ECONOMICS)
Marks 13

Answer Question Nos. 29 to 31 in a sentence each.

29.  What is the relationship between the primary sector and secondary sector ? 1
masRe! crrse Tron craene! orwwse wefr! Jfes kefa mefe® 7
HIENEA GRS LR G WAL Cawa WA B 9
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30.

3l.

32.

33.

34.

Can you prove that Indo-Myanmar trade treaty is an incomplcte border trade ? 1
pest-gewke eote sefrel e wof mmo Exs armf ce swfre! Assnf Kew O
miRe MERE 5 AREE 1
I - SR S TS W et WNA SNLeE! A 3TE s vEy
Fige 2w 8T g 7
Give one suggestion which will provide opportunities for handloom and handicrafts of Manipur
by globalization, 1
Fenmemt Zeeses ke’ Fenfadesat Mesrroln rsdnrmnee RPmis mearae! Assmt
WEF WH Wi
e coeR oW el coerareiie coceiTesTa Yol Spatt aEd
T2 A |

Answer Question No.32 in about 30 words.
What is meant by capabilities approach to development ? Give two points. 2
W5 MFEH NFEF WSS RERemm s wofe® 7 mew wel miwn
T @7 T S3TN Bl I SR 7w A Fy

Answer Question No. 33 in about 50 words.
Explain the importance of activities in service sector by giving three points. 3
cernfer crrpem! TErofor! RresEsofn oare mevs oEiTe B |
A e LR Weradafie Sex g *T il Ts |

Answer Question No. 34 in about 100 words.
Identify one inconvenience of barter economy and explain four functions of money.

1+4=5

rwe (WPsE mRgE ofers) crerlsal BRoias Rt gor 3rs oEr oeand & el
RERR CEFTE FE i
M7 (Coirea contesel Forman) oomfaedt YUTesmaT S W TS SN Cere WL WA
TR *CE SIS |
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